
Time: 10 Minutes Paper G.Science 5th Total Marks: 10

4th Month, 2nd Week, 6th Day Unit: 5, Revision Test Syllabus (2nd week)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. What type of change it is when metal examples on heating?

ttttXXXXnnnnÅÅÅÅpppp~~~~ììììZZZZ####ŠŠŠŠJJJJ''''¤¤¤¤////xxxx™™™™ääää6666,,,,ÄÄÄÄ÷÷÷÷????
(a) Permanent x (b) Chemical 6ð

(c) Physical 8 (d) Temporary ¬gè
2. The major component of solution which dissolves solute is called:

‚‚‚‚CCCC××××»»»»((((,,,,ZZZZbbbbzzzz����‚‚‚‚CCCC^̂̂̂ÃÃÃÃiiii™™™™@@@@****ììììÔÔÔÔBBBB@@@@****ìììì::::

(a) Solvent ‚ß•M (b) Solubility ‚C
"5Í-

ö
EG

H

(c) Solvation ‚ßc (d) None of these Zy~ÐÃð7

3. To prevent Iron from rusting, its surface is coated with:

ßßßßììììÃÃÃÃiiii8888----ÐÐÐÐXXXXääääÆÆÆÆaaaaZZZZkkkkÅÅÅÅRRRR6666,,,,ÎÎÎÎcccc****YYYY@@@@****ìììì::::

(a) Oil % (b) Paint Ì

(c) Chromium ™zç (d) All of these tÓx

4. Which one of the following is a solution? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚‚‚‚‚CCCC××××ìììì????

(a) Milk ŠzŠ| (b) Tea eñ

(c) Soft drinks ‚Åegã (d) All of these tÓx

5. A solution having more quantity of solute is called:

ZZZZ((((‚‚‚‚CCCC××××TTTT~~~~‚‚‚‚CCCC^̂̂̂ÅÅÅÅiiiicccc****ŠŠŠŠ{{{{llllZZZZggggiiiiƒƒƒƒÔÔÔÔBBBB@@@@****ìììì::::

(a) Normal solution **gï‚C× (b) Pilute solution eZê^‚C×

(c) Concentrated solution
´4k2.ç

EEH"5å GH
H‚C× (d) None of these Zy~ÐÃð7

Q. No. 1.  What is a chemical change? Give an example: (2)

6666ððððpppp~~~~HHHHƒƒƒƒCCCCìììì????ZZZZqqqq----VVVVwwwwŠŠŠŠ,,,,::::   :1 ÎÎÎÎZZZZwwww����

Q. No. 2.  What is rusting and which type of change it is? (3)

gggg««««HHHHììììZZZZzzzzggggtttt¾¾¾¾nnnnÅÅÅÅpppp~~~~ìììì????   :2 ÎÎÎÎZZZZwwww����
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